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L, F1=10 N
0.5 F2 . \
k F2=20 N
Fi= F1+F2=10 N+20N=30N Fely
B Fo. F1=10 N Y
0-5 ) . F2=20 N
Fi= F1-F2 =20 N-10N=10N Fely
Fr F1=20 N
F
0.75 = .- > F,=10 N Y
F2
F3=5N
Fi= F1-(F2+F3)=20 N-(10N+5N)=5N Sl
F1=3 N
1 ¥
Fo=4 N
Fz
F, = /F12+F22 =324+ 42 =25 =5N &l
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Fl F1=3 N
1.5 F2=4 N >
x= 60"
&b
F, =\/F12+F22+2F1F2cosoc=\/32+42+2><3><4><cos60
=25+ 24 x 0.5 = V37N
F1=10N \/ F,=12N
3 4
L = 60 a =30
Fy,iy =F sinf Ty Fy, = F, sin «
F1 . F2
a
——— @ E 4_>X
F.i = F, cosf F,, = F, cos
2 2 v
Fe
0 =tan 12 &by
Fex
ZFx =Fq+Fy=-5+6V3
sz =Fy +F); =5V3+6
F., = F, cosf = 10 X cos(—60) = 10 X (—0.5) = —5N
V3
F,, = F, cos o« = 12 X cos 30 = 12 x7=6\/§N
V3 _
Fyy = Fysin =10 X sin(=60) = 10 X —- = 5vV3N

Fy, = F,sin =12 X sin30 = 12 X 0.5 = 6N




